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Winmeen - Group 4 VAO General Studies Model Test 2

1) 1856 oy1b p6v01(n eflBemeu mewTD GHBSHS FLL
(pedT ulgailed SMl(aLiLBHS S weur wmj?

A. meveury &hST ellGWnansy

B. J.P.&\ymeseri_

C. &1y &mjevev 2 L

D. gretigest L 6518657

In 1856 who tabled a bill in support of widow
remarriage?

A. Iswar chandra vidhyasagar

B. J.P.Grant

C. Sir Charles Wood
D. Johnson Duncan
2)  SLLOQUMDLENISHE  LDJ6wT  SHEBoTLEO6UTEnL
Silellggeur wmy?
A. gnsgest

B. Geucv@eveval Uil

C. unestyGLoesT D. em61v.247.60malmiL_65T

Who announced death penalty to kattabomman?
A. Jackson

B. Lord wellesley

C. Bennerman

D. S.R.Lushington

3) SP& eIl 6B  (pemmulled S
508 0sslUbEHmE?

A. @eumfluiira

B. Himpg@euerfl (pemm
C. UL6nL &6 61(H&HH60
D. ausstLev LNfl5085[H&@W0 (Wwemm

Which type of Mining is used to extract gold?
Learning Leads To Ruling

Quarrying

Open cast mining

o w »

Strip mining

D. Alluvial mining

4) sioumL eTedT) Q\FTEm6V [HI6TBTETR)|ETBTT6Y
Qewmenss Camener 6bs BB eailwg)?
A. Sgmesteny

B. Qgett Qamflwm

C. vt

D. 9988w 1Qwiflés B(hseT

Which country has launched the remote sensing
satellite called SPOT?

A. France

B. South korea

C. China

D. USA

5) &flwns QuBhE 2 6Temens CaibOSMH.
1) wsaeseows glewm — 12.5%
2) @neserLmd gleom — 25.8%
3) cypesd glevm — 58.4%
A 1&2
B. 2&3
C.1&3
D. ,2&3
Choose the correctly matched pair.
A 1&2
B. 2&3
C. 1&3
D. 1,2&3
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6) Qumgiuligwey 61b% BIL{H HTHwevenlILE
FLLSS(BHS QUL L g?

A. opengGreslwnailest &l wevemolILg FLL LD

B. seot_meflestT SipflwisvemioliL & &L L LD

C. Nfl_Lesflest SipflwievemioliL g L LD

D. stiuimeuflest ipdlwevemoliLg FLL LD

From which country’s constitution concurrent list
was borrowed?

A. Australian constitution

B. Canadian constitution

C. British constitution

D. Japanese constitution

7) FWHMLSEHETT HEOTTHG| (LPESTEEBTHMMEIS(ETHEEHLD

auflau@ &G0 SHpliLemL (P&HeSH _____ O (SID.
A. B6TO& ML 61T B. s6veail
C. opfiflwiiseit D. pwUisens

____ 1s an investment which paves way for the
social and economic development of society.

A. Donations

B. Education

C. Teachers

D. Faith

8) SpaetuiL ehg eflulley eeflEGaisens Gaugons

BemLCuUMID?
A. @@L

B. flauliy eperfl
C. (epa6i 6erfl

D. Qeusitemsrr 6gerfl

Learning Leads To Ruling
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Among which light photosynthesis takes place
fast?

A. Darkness

B. Redlight

C. Yellow light

D. White light

Ly fluLedt

9) Camev  EPEHETIIL  6THG

Q@sMLjyenLwg?

A, uuy ygid

B. smuy yyLé

C. gmbuev YyLd)

D. flauliyl yyLd

Leather related to which of the following
revolution?

A. Brown Revolution

B. Black Revolution

C. Grey Revolution

D. Red Revolution

10) 1528 <y1b opev01(h HemLQubm 61 Guimflev Lmuy
Gudlesflymis etesTm W6BTEBTENT GlOUMNS] & TevBTLTT?

A. snaym Gumy

B. setteur Gumy

C. 8sifl Gumy

D. ses1@evte) Guimiy

Medini Rai was defeated by babur in which battle
held in 1528?

A. Battle of Gaghra

B. Battle of kanwah

C. Battle of chanderi
D

Battle of kanauj
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1) smpHluilest  QFwevdHlLkisefles  FlLFenu C. 1-d;2-c;3-b;4-a
LU&sestilienL@u (PSS WIDTEDTS) 6T60TM)| D. l-a;2:b;3-c;4-d
13) @& flwesflest Hlewmm = ?
sueSlmiS & weury wrj?
A. 1.99%10*29 &4 B. 1.99*10"30 &\
A. 6T, SEHWCPTSHS
C. 1.98*10"29 &4 D. 1.98*10*30 &4
B. &evfleuns wmkismy
The Mass of the sunis ____.

C. &.@rmeGsmumeon&sn
gmes l A. 1.99*10"29 kg

D. m.G6u.@rmoemsl IS B. 1.99*10*30 kg
Who stressed that the council boycott was a C. 1.98*10"29 kg
central part of Gandhian programme? D. 1.98*10"30 kg
A. S.Sathyamurthi 14) wsseflstt sevflbUT euHLTTHMS QI ILILIMTES
B. Sminivasa Iyengar BLoUSmSS6T  GumOsmsTemiulL.  b&Hmesst(h

C. C.Rajagopalachari
SILLLD e15)?

D. E.V.Ramaswami Naicker

12) QUTmBSSS. A. eppmeug) bsTeso(H L LD

1) emeut Lidleir B1 — i) fGUNsLiGermelest B. ei_Lneug) ghsnesihs Sl

2) emeul Lidlest B2 — =) emvgwislest C. geiTugTes) BHSMTIHS SILL1b

3) emaul LiflesT B3 — ) GLITefls @iflevid D. ugsmaug gbsmes(H S L1

4) emeut’ Lifleét BY — ) Bluindlesr which five year plan was introduced to double the
percapita income of the people?

A 1-8;2-91; 3-FF; 4-
= 8 A. Seventh Five Year Plan
B. 1-@;2-05,;3-7; 4o B. Eighth Five Year Plan
C. I-m;2-@;3-94; 4-9 C. Ninth Five Year Plan
D. l-oi;2-2p;3-@ ; 4-F D. Tenth Five Year Plan
15) @nslwnellsst 6ba QLSHev QFgssILLL W&
Match the following.
1) Vitamin B1 — a) Riboflavin 2PN ST Henes SieniobSlsTensI?
2) Vitamin B2 — b) Thiamine A. oBET0 NCa&wD
3) Vitamin B3 - c) Folic Acid B. SiBILs
4) Vitamin B9 - d) Niacin
A.1-b;2-a;3-d ;4-c

B. 1-c;2-b;3-d ;4-a

C. wsHw LnGs &b

D. simews&seol) LIpGg&id

Learning Leads To Ruling Page 3 of 22
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In which place of India the tallest Jaina statue is
carved out?

A. Andhra pradesh

B. Karnataka

C. Madhya pradesh

D. Arunachal pradesh

16) 2 608 BBl 1H)& 16T STDIFHSlenW 2 HLISH)

Q&b B 6181?

A. 21Qwfss B&dHw B
B. Ulgmesterv

C. ggliumest

D. fevtr

Which country is world's largest producer of
nuclear power?

A. USA

B. France

C. Japan

D. China

17) LILOTBIG6IT umlw UlglILy 6TeU UM

SemP&&LILMHEDSI?
A. Gumomevgd]

B. enugsmevgd)

C. etesoTLLomEVES]

D. erliglomevgs]

The study of fruitsis calledas ____
A. Pomology
B. Phycology
C. Entomology
D

Etymology

Learning Leads To Ruling
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18) saeuev Pl 2flemos FLLGHmsL UbHIW
giflwnest sapenm CEIHOS(H -
1) 2005 oyl op6v1(H ASCLMUF 12D [BT6T H&H6U60

sflub  2fleow  FLLD  UMMEHLOETHES60

BleomGeubmLiLLLg).

2) @s6vTev QNG| FIMIGUETTRISET FMIHS HENETTHS)
IBL 6195605 SHE06IL LD MBS Qameieug)
Qungissaerflstt SigpliLienL 2 flenwnEL.

A1l @b
B. 2 ol {ib
C.1&2
D. erg16e4ib Q6vemren

Choose the correct information related to the
Rights to Information Act.

1) The Act was passed by parliament on 12%
october 2005

2) This Act enable all citizens to use their
fundamental right access information from public
bodies

A. lalone

B. 2 alone

C.1&2

D. None of the above

19) wslGumy Hapsdeow  alleorayuBEgin

ammyGLomesT 61517

A. emgyngenslest

B. Q&&ifligstr

C. saumGervmLinenSlest
D. op8enfiGLmerflest
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Which hormone is responsible for the process of
parturition?

A. Thyroxine

B. Secretin

C. Vasopressin

D. Oxytocin

20) QuN(B58)5.

1) AetTen) 16 - &) Feipwim

2) AnnsCam - o) wHHW pLflEsT

3) yjsm - @) 21QWwf&Es KW
B(Hs6iT

4) o7& et - IF) ST LIME6VEU6DTLD

A 191, 2-8,3- ;47
B. 1-@;2-7;3-1;4-9
C. l-o;2-7;3-,;,4-@

D. 1-m;2-@; 3-&1; 4-=

Match the following.
1) Chinook — a) Russia
2) Siracco — b) Central Africa
3) Purga - c)USA

4) Harmattam — d) Sahara Desert
A.1-a;2-b;3-c;4-d

B. 1-c;2-d;3-a;4-b

C. 1-a;2-d;3-b;4-c

D. 1-d;2-c;3-a;4-b

21) S1p&a6etuIL 611G Mblevdhdlev Fjeme FLLLO6STMHLD
@6vemr6v?

A. sJBILSD

B. sgib(p smeipLoiy

Learning Leads To Ruling
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C. Jamy

D. wgHw NyGse&b

which of the following state does not have Bi-
cameral legislature?

A. Karnataka

B. Jammu kashmir

C. Bihar

D. Madhya pradesh

22) 1509 opib  opete(h  SieLOIWWILT  Wmmey

Q& MeveLLILILLTH?

A. opraigGeowiseit
B. NQpEp&saMiseT
C. si&luSlwijgei

D. GLesflwunseir

In 1509 Almeida was murdered by whom?
A. Britishers
B. Frenchers
C. Egyptians
D. Danishers

23) owumiesm  UBHO&TEmEy BEMLOUDHD 4685T(H

6151?

A. 1623

B. 1625

C. 1628

D. 1612

In which year Amboyna Massacre was held?
A. 1623

B. 1625

C. 1628

D. 1612
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24) saunflggev Hlapssullest QUMWE Siblevdens
L evLed  CHM-6T6tTemIEVD-6]  6T65TN)  CLPEVSHFAMTE
IHMID CBIS 618)?

A. soLmalls Sislev SpEenIGL6L

B. eoumGeul fbgLGLeiv

C. 2iGsmesfiGLen

D. soL(pGaulles smaml GrmellGesteny

Which enzyme catalyze the conversion of pyruvic
acid into acetyl co-enzyme A in the respiratory
process?

A. Pyruvic acid oxidaze

B. Pyruvic synthetase

C. Aconitase

D. Pyruvate Dehydrogenase

25) seury Iy QamlevmiLaillwefsy HHs emailen
uwestU(HSSLILBD unsleflwub 618)?

A. emmevigflwib Q&LipsLd

B. @186 unsiefluib Ly slGuéwiestsiv

C. #npGsnGlomestery &L il

D. Guéleveveiv Gamuwim@evestery

which of the following bacterium has extensive
usage in Genetic Engineering work in plants?

A. Clostridium Septicum

B. Agrobacterium tumefaciens

C. Xanthomonas Citri

D. Bacillus Coagulens

26) sBPEIE AT&E 2wissvall QFWLHens aisHamns

2020 2pD DpETOTOMG6T . SBHSI ———— S

2 W gleuens CrM&EsLNSs ©\&Tessr(heTernsg).

Learning Leads To Ruling
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A. 11 e(mBBgI 22%

B. 11.72 e§i(BrBg1 25%
C. 13.7 eN\(BB &I 22%

D. 14.2 6B &I 25%

The Tamilnadu Government aimed to increase the
gases enrolment rate in higher education from

____to by 2020.

A. 11to 22%

B. 11.72 to 25%

C. 13.7 to 2%

D. 14.2 to 25%

27) <penbile Lugallé smeb GUISS FI55! 61517

A. 5755 132

B. s758) 150

C. 1835 156

D. 5581 162

Which Article deals with the term of office of
governor?

A. Article 132

B. Article 150

C. Article 156

D. Article 162

28) UUhsT 2L6tTLipSHems Lilg WY WTen] &hHéHs
LIS SMesoTLTj?

A, Aaryl  serasdlienu  FHHES  QLUUS
O & messTLIT

B. Qgwdni Hlaungdlenw Fb&Hlés eLILS0STessTLTy

C. Qg il gmbLMdlemw FbS158 62L1LI80\ STevsTLIT
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D. FmbLmed) SleIhISELIenL

&h&68
UL &0\ MTesoTL T

According to Treaty of Purandar who wants to
meet whom in his court?

A. Sivaji to meet Aurangazeb

B. Jaisingh to meet Sivaji

C. Jaisingh to meet Sambaji

D. Sambaji to meet Aurangazeb

29) wnmenLW HMeusHled LSEH Quissd HmLiLimest
BLéevsl Ulips58)?

A. Geriy

B. Gampry

C. umessTipWIy

D. ueveveury

In which rulers period the Bhakthi Moment gained

amomentum?

A. Cheras
B. Cholas
C. Pandyas
D. Pallavas

30) CLPEBTMITLD Hlemevuilev Qamflevasrilev
uesoflflGeunemiy sTeueumm| HempSHEHMD?

A. Q6u6iTemeT &(W&HGILILIL6DL LI6otITeNja6iT

B. Qeuerfly fleuliy swsgIliLienL Lsssilwmemyselt

C. M5 SSHFILILIL6mL. LI6sTWLIT6TIaeT

D. Bev S(WHGILILIL 6L LiessTWTeriseiT

The workers involved in teritary activites are

called

A. White collar workers

B. Pink collar workers
Learning Leads To Ruling
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C. Gold collar workers

D. Blue collar workers

31) 2608160 &ESET QFHTENS SLTHH) (HMMEUTS 2 676N
B 6151?

A. orIGsmeSiwim

B. auasmenGg &0

C. openudlGrasiwm

D. Qumrestn&@aim

Which is the world’'s least densely populated
country?

A. Mongolia

B. Bangladesh

C. Australia

D. Monaco
32) LomeuL L S L &G wellest HEOEVEUITE
@zwevLI(BUeUF Wmy?

A. prsullL opFlury

B. wmeul L eu(meuml Sievieusorf

C. breul L 2emymlf&EHp SHemeveury

D. glemeror oL Swiy

Who acts as the president of the District Planning
Committee?

A. District Collector

B. District Revenue Officer

C. District Panchayat President

D. Deputy collector
33) QuBES!s.
1) @il em®s

- &) Hleuliug)| HMID FervL

(AF:))
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2) prmuiL Uyeyest - &) GF6v Gamiun(y
3) eSeuett us - @) Q&6v HeveT(HLlplIL
4) sivserflLetT - /) Bluserflwisi

sevot(hUilgly

A l1-&; 2-m; 3-§; 4-94,

B. 1-oy, 2-@; 3-o4; 4-/

C. l-o; 2-@; 3-F,; 4-=

D. 1-@; 2-m; 3-&1; 4-94,

Match the following
1) Robert Hooke — RBC and yeast cell
2) Robert Brown — Cell theory

3) Leeuwenhook — Discovery of the cell
4) Schleiden

A. 1-3;2-d; 3-c; 4-b

— Discovery of nucleus

B. 1-b; 2-c; 3-a; 4-d

C. 1-a;2-¢;3-d; 4-b

D. 1-c; 2-d; 3-a; 4-b

34) @eows smmplest spnd) Geusb wesslleE ____
HBeurm LBLLIT 6u6v] G(HEH(GHLD.

A. 52-459 &5

B. 62-509 £F

C. 68-600 &5

D. 75-650 £S5

Spinning speed of Tornadoes per hourisupto ____
km.

A. 52-459 km

B. 62-509 km

C. 68-600 km

D. 75-650 km

Learning Leads To Ruling
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35) QUesti(h SHIVIEHEHEHEOLCU 6THSHE060T 61578
5650)|5:561T Q(H&GLD?

A1l

B. 2
C. 3
D. 4
How many antinodes must be there between two
nodes?

A1

B. 2

C. 3

D. 4

36) oisiieu Geugd _____ GO HHDG.

A. 1028 LML6L&6T LIH]

B. sLmu@seflest Gung Ulestupmlin®w elleunrissit
Suln]

C. sLmdletGUNg) QemaliLensg LM

D. u6vGeum) &LMmIGSET LD

Atharva veda contains ____
A. 1028 hymns
B. Rules to be observed during at time of
sacrifice
C. Tune for the purpose of chanting during
sacrifice
D. Details of rituals

37) Qusmflwy smevgHled UL @iHlwalleo @uNg)
wasemTey GuaLILLL Qomg 61g)?

A. umel

B. Ulgnémpso

C. swsnv&l(mHsd
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D. @sevimis

During Mauryan period,which language was used
by the common people in northern part of India?
A. Pali

B. Prakrit

C. Sanskrit

D. Telugu

38) e@mm umgsmiy Guremeuwllsst HnHSTLHM
2 miuflestiserflstt Lgel&smevld eTeusuere,?

A. 6 au(pLBISET

B. 5 eu(pLmsei

C. 3 su(pLmIS6T

D. 2 supLmsei

The term of non-permanent members of UN
Security Council is ____ years

A. 6years

B. 5Syears

C. 3years

D. 2years

39) QuN(BSEIs.
1) Hlevsaifl — Fevemu (a6l
2) isvilesflud — L (Hidlestsiv
3) smiug sngl — C&esTemL L
4) @Y SN — LMTEenFL

A 1-@; 2-oy, 3-o1, 4-7

B. I-m; 2-94;, 3-@; 4-94,

C. 1oy, 2-1; 3-1, 4-Q

D. 1-o;2-@; 3-o4, 4-7

Match the following.

Learning Leads To Ruling

Prepared By www.winmeen.com

1-c; 2-b; 3-3; 4-d
1-d; 2-3; 3-c; 4-b
1-b; 2-d; 3-3; 4-c
D. 1-3;2-c;3-b; 4-d

o w »

40) Gamumevd(meipetst CanaCen @bHIW Lisssilwimery

5P&5m55 Cempuieliss <peu(h 61g!?
A. 1902

B. 1903

C. 1905

D. 1907

In which year Gopala Krishna Gokhale founded the
Servants of Indian Society?

A. 1902

B. 1903

C. 1905

D. 1907

41) Sipsevesummiet Crp iplEensullest FAmLiLs
FoM)|S6T Wmemneu?

1) Hlemeowins QLmdesflwiest

SAbS6E
AUPBISLILI(HS6L

2) wsHullev @uetsih  eveussT  Q\FmesOTL
FLLLD6STMLD

3)  2ememmid SlLLLSEDHSE — Cayid
SISSMITRIGET 6ULPMEIESH60

4) LSEW-LIETEST  ATEHEHHEG QemLCuw
@z erfleunest HFlaml L&jey

A 1,2&3
B. 2,3&4
C.1,3&4
D. 1,2&4
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Nehru report favoured which of the following?
1) Dominion status as the next immediate step
2) A bicameral legislatures at the centre
3) More powers for the local bodies
4) Clear cut division of power between centre and
the provinces
A 1,2&3
B. 2,3&4
C.1,3&4
D.1,2&4

42) eunest Ganevigrieiy SLILID &L SeurlWsnHeTs
wmy 155 SHHSLILIWITEST HUTTSD efSlSSTT?

A. Qguils Hmi

B. &l sevgmett

C. o18wngd Gusid

D. emamgij 26l

Warren Hastings imposed heavy penalty on whom
for his delay in payment?

A. Chait singh

B. Tipu sultan

C. Begum of Oudh

D. Haider Ali

43) BHemnssEHssNeT CafWw all(Hensl QU 6mbHs

IWSIHEGLULL GRHEOSSHET G

2 emL_WLeUNSHETTaU[?

A 3-15

B.4-15

C.5-16

D. 6-16

Which age group childrens are eligible to get

National Child Award?

Learning Leads To Ruling
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A . 3-15
B.4-15
C.5-16
D. 6-16

44) SpsesriLeupiiles QamamFw  mrhserler
HgmpdHws  salLenwlitlest 2 miiflesyng 2 6fem
BM(H&6iT sTemeu?
1) undleivgnest 2) @evrlens 3) SpLismesllervgest 4)
QUG TETEHELD

A 1,2&3

B. 2,3&4

C.1,3&4

D.1,238&4

Which of the following countries are Members in
South Asian Association for Regional Co-
Operation?

A 1,28&3

B. 2,3&4

C. 1,384

D.1,23&4

45) QuN(BS5S)5.
1) Bz6verv - RNA emauryein
2) Hetteotibeno — H.N. emeurerv
3) Gruienv — epGILIGVELIT EmEUTEL
4) uestrfl HMiEFFev — GeurflGWimev emeuTsiL
A 1-0;2-2,3-@,4-m
B. 1-@,;2-7;3-91,;4-24
C. 1-o;2-7,;3-95,4-Q
D. I-/;2-§;3-91,;4-24

Match the following.
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A l-a;2-b;3-c;4-d

B. 1-c;2-d;3-a;4-b

C. 1-a;2-d;3-b;4-c

D. 1-d;2-c;3-a;4-b

46) E1p&&6E0TL 615G 61605 GG LWL 160605 LOEBILD
G&MhISET 616t HemP&SLIL(HEDSI?

A. Epmi CosmiseT

B. uenL Gsmhigsit

C. &6t Gosmhigei

D. snjuenL GLosmhigeiT

Which of the following cloud is called as strom and
rain clouds?

A. Cirrus clouds

B. Stratus clouds

C. Cumulus clouds

D. Nimbus clouds

47) GaHlw emenwluT (h Herd eisflssiu@n
IBIT6TT 615517

A. peulbLIy 19

B. o&@Lmuiy 18

C. Q&lLbuf 16

D. &186Lmury 17

On which day National Integration Day 1is
observed?

A. November 19

B. October 18

C. September 16

D. October 17

48) slLLewbleveuns  HLLMUESHEEN  (Pemm

(LPSETT(LPEDMUINS 6TT5I(E AM(WPSILHSSLILILL §)?

Learning Leads To Ruling
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A. sumismernid
B. ubumi

C. Ggstrement
D. 608551

Where the first Free and Compulsary Education

was introduced?

A. Bengal
B. Bombay
C. Chennai
D. Calcutta

49) 1920 Sy oev81(h BeOLQUDHMD CHigeslsv Wy
HEM6LENLD JH& LMISSSHT6V, 6]. FLLITTWEY| QL iguimy
sevneveniouilevnsst Siemw&ETens LIgalGuwmms)?

A. Nl Slunsymu Q&L

B. Qumilfles) opai

C. uert&E6L SIET

D. wsnisms s

In the 1920's election who refused to lead
minsitry,so that A.subbarayalu Reddiyar formed
the ministry?

A. Pitty Theagaraya chetti

B. Raja of Bobbili

C. Rajaof panagal

D. Munuswami Naidu

50) SpseoiLeupmiet Ul FomnsHlesmHha)
2 (TH6UMesTS) 61517

A. &) (meipesTT @UISED

B. Mgmjggest gomegld

C. Ui (epmest FeviL
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D. @ermid sumisnem QuissL0

Which one of the following is off-shoot of Brahmo
samaj?

A. Ramakrishna Mission

B. Prarthana samaj

C. Theosophical society

D. Young Bengal Movement

51) eumfla Qi Gsmetensuilesiuly  Levameyd
(P&6Sl6L Qen6rt1dgIs Q&ML LGS 61817

A. BT

B. sgetté)

C. Sievamung

D. ggmym

which place was first annexed by Dalhousie by
the doctrine of lapse?

A. Nagpur

B. Jhansi

C. Allahabad

D. Satara

52) GzemsllenL S1(h&@ eT6tTm Gloevesiw oi(h&sTes1g)
SpsaetiL.  ebs  AMEGHEHHE Qe Gw
SI6MIOTHG|6iT6NG)?

A. sipw(heE HMIL LenLwbHsE

B. uemLw(h&@ wHmib HwesilwBhéE

C. siwesflw@BaE wHmib Geusfl SibHsE

D. Sipw(héE wHmIb SHwestwbhéE

Tropopause lies between which layers?

A. Troposphere and Stratosphere.

B. Stratosphere and Ionosphere

C. Ionosphere and Exosphere
Learning Leads To Ruling
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D. Troposphere and Ionosphere

53) @BHw AHTFWevedIOLIL] ____ LIMSHISE6ITWLLD,
e SILLAUGHETTIHEDETD, ____ FHGISHEO6TULD
Q& mevsT(h6Teng).

A. 20,12, 416

B. 22,10, 412

C. 22,12,449

D. 20,12, 436

The Indian Constitution contains ____ parts

) ————

Schedules and ____ Articles.

A. 20,12, 416

B. 22,10, 412

C. 22,12,449

D. 20,12, 436

54) Qunb55)5.
1) Ssny — o) ameosyy
2) 25800 NInGs&b — <) 2 L enmy
3) by UInGseibd — @) Aymesor
4) simrLsm — i) Weomest &obleuer]

A 1-@;2-F; 3-o, 4-9

B. 1-§;2-&4, 3-1; 4-4

C. I-/; 2-8); 3-o, 4-9

D. 1-&;2-=4, 3-@; 4-FF

Match the following.
1) Bihar - a) Hallur
2) Uttarpradesh —b) Utnur

3) Andhrapradesh - Chirand
4) Karnataka
A. 1-c;2-d;3-b; 4-a
B. 1-a;2-b; 3-d; 4-c

— Belan valley
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C. 1-d; 2-c; 3-b; 4-a

D. 1-a;2-b; 3-c; 4-d

55) @wimens sunwellest (p&HIW Faml 61517
A. m5C8se6t1

B. 658s6tt

C. Sy GLetr

D. yguGuest

The major component of natural gas is
A. Ethane
B. Methane

C. Butane
D. Propene
56) &Spssessi PH wélysenst em suflemauiley
auiflen & 1U(H55)s.
1) werflg 18530 2) euwllbm Sdlevd 3) gmw By 4)
LImev
A. 4321
B. 3142
C.1324
D. 2413
Arrange the following in increasing order of their
PH values?
A. 4321
B. 3142
C.1324
D. 2413
57) mm&Qsl maiey Spésessil ebg alldlulles Lig
QewevLI(hEImE?
A. Hlul 1 esflest (560 eflS)
B. Blwy 1 esflett @nesor_mbd eflg)

Learning Leads To Ruling
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C. Hluy L evfledt elpsoTmmid el
D. e79v - gmbgest aflg)
The motion of rocket is according to which law?
A. Newron First law
B. Newton Second law
C. Newton Third law
D. Joule — Thomson law
58) 2en(h(mHeuLd et SpLliLiemLuil6v SP&H6sETL 6uMHEnm
gmieuflenguilev auflensliLi(H&s)s.
1) opsvsum s&HFseT 2) LT GiseTssT 3) Som
SEH 6T
A.2-1-3
B.1-2-3
C.3-1-2
D.1-3-2
Arrange the following in the increasing order of
their penetration power?
A 2-1-3
B.1-2-3
C.3-1-2
D.1-3-2
59) flevnug Hlevild SHeIFFlSSHLILILL BT6T 6187
A. 1919, o15G@Lmury 19
B. 1919, &&@Lmuiy 17
C. 1919, @Q&uLbuiy 19

D. 1919, Q&lLbury 17

On which day the khilafat day was observed ?
A. 1919, October 19

B. 1919, October 17

C. 1919, September 19
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D. 1919, September 17

60) UMUUSMHE (PWLEOLSET Lengbgleeng GLmev
Bz mhmLeifl& @ Hlev&CHMHmLD eTe6UMTM)
Sienlp&sLILHEImS?

A. gbedletTEeN

B. Qremyestseir

C. umjsmest

D. Gevmwierv

Which of the following resembles like a half buried
eqgq?

A. Drumlins

B. Moraines

C. Barchan

D. Loess

61. 7 men can complete a work in 52 days. In how
many days will 13 men finish the same work?

a. 26 b. 27

c.28 d. 29

7T opetoiseT  (p  Ceusmevemw 52 mrLserfley
(WPelILm&eT eTestley 13 o eve1sHem 188 Couemeveml
615SH606BT [HTL_G6TTI60 (LIoLILIMTEH6TT?

1. 26 4. 27

8. 28 /. 29

62. Base area of right circular cylinder is 80 cm? .
If the height is 5 cm then the Volume is
a. 400 cm?® b.16 cm?®

400
d. —cm?®

c.200 cm® -

Learning Leads To Ruling
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@ GmwieulL o (pemenullest puss ugly 80

§.08.15. et 2wpd 5 QF.15. erellev FHesT HevT

36T
1. 400 cm? <. 16 cm?®
@.200 cm? /. 2em?

3

63. Find the simple interest on Rs. 7,500 at 8% per
annum for 1 % years.

a.Rs. 800
c. Rs. 8,400

b. Rs. 900

d. Rs. 10,000

em. 7,500 &@© 8% eully eisb @ eumLL 6
LD I8(ETHESTEUT SH6vfl 6UL I9eMLIS &TET51S.

3. ¢m. 800 <. 900

@. 8,400 . 5. 10,000

64. If one fifth of one third of one fourth of a
number is 2 then the number is

a.50 b. 60

c. 100 d. 120

@ etevsrenvilent @bHled e Lkl cesTifled QB
LIBIE 65T BT6BTE 60 69(Th LIMI(E 2 6T6vllev 16uG)6uessT

1. 50 4. 60

©. 100 /. 120

65. A silver wire when bent in the form of square
encloses an area of 121 sq.cm. If the same wire is

bent in the form of a circle. Find the radius of

Circle.
a.llcm b.7cm
c.35cm d.14 cm

Q@ Qeuserll sbUilenw euemensHgl @(H FSITLONS

wrHPULGSDE. FgITsSSler iy 121 &.08.15 . 2165
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sUlenw 6uen6TSH gl 6(H UL LLoNS LAMHHIESTTEL HHS
QUL L &S)65T 4 JLD 6T6dT60T?

31. 11 Q&.16. . 1Q\&.15.

@.3.5@&.15 . 14 QF.15

66. Simplify (i)‘2 -3 x 82 X 40 + (116)_71
a.0 b.1
c.2 d.8
. 1,y 2.0 1,22
S(HSHGS. (Z) -3 X 8 x4%+ (1—6) 2
1.0 .1
Q.2 F. 8
67.1f2+3=89,3 +4=28164,4 ~ 3= 6481 then 1 +
2=7?
a. 24 b.14

c.12 d. 10
2+3=89,3+4=8164,4 = 3=6481¢mesflev 1 +~2="7?

o1 24 o 14
@.12 . 10

68. Mean of 100 observations is found to be 40. At
the time of computation two items were wrongly
taken as 3 and 72 instead of 30 and 27. Find the
correct Mean.

a.39.82 b.40.18

c.41 d. 425

100 erevorsserflest annafl 40 et SMevETLILLL ).
seosHl(HD CrrsHev 30 wHmMID 27 ewtim E)(MH
elleugraigeT 3 OMID T2 ETEISSHEUMISHEOTE
(SIS sMeTemILLL g 6T6sT Q& 6ubSHg 6Tevflev
gilwimest FoMFflenws &Meoos.

3. 39.82 <. 40.18

Learning Leads To Ruling
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@. 41 . 42.5

69. D is taller than C but not as tall as B, C is taller
than A. Who among A, B, C and D is the tallest.

a. A b.B

c.C d.D

D ewsttueuy Cgg eflL  2wpomesteu, opeotmev B
SemeysE 2wnblevensy, C  eteotueuf Agy  afll

2 wiynesteurj etesflev A, B, C opmid D-6b 2 wijomesteury

wrry?
Sl A . B
8.C /. D

70.1f 2x + y = 15, 2y +z = 25 and 2z +x = 26, what is
the value of z?

a. 4 b.7

c.9 d. 11

2x +y =15, 2y +z = 25 wmmb 2z +X = 26, eTevflev Z 6b7
WSILIL 6T65TEET?

Sl 4 . 7

.9 . 11

71. Find the odd man out in the following:
1,5,14,30,50,55,91

a.5 b.50

c.55 d. 91

LletTeu(pld eTevs1d6T QBMLfeuflemauilsd QuUTHHSHTS
6T600T60) 63018 SHIT6T515.

1,5,14,30,50, 55,91

3.5 4. 50

9.55 . 91

72. Find the area of the following shapes
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2m 2m
5m 5m
Tm T7m
4m
8m
a. 26 sq.m b.36 sqm
c. 46 sq.m d. 56 sq.m

SLPEGHEVITL 2 (HeuSHHletT LITLIL| SHT6ssrs.

2.8 25
5.8 58
748 78
4.5
848
3. 26 &.15 4. 36 5.5
. 46 5.15 . 56 &.15

73.Find the greatest number that will divide 51, 99,
191 so as to leave the same reminder in each case.
a.4 b.7
c.9 d.8
51, 99, 191 =pflw etesorBEm6T 61 WSHL Quifiw

6T6TTTETBINEY  QUGSHGD  Qumpg WBH  Fowns

HlemLGL?
.4 . 7
2.9 FF. 8

74. Find the difference between simple interest
and compound interest on Rs. 2,400 at 2 years at

5% per annum compounded annually.

Learning Leads To Ruling
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a.Rs.5 b.Rs. 6
c.Rs. 8 d. Rs.7

erm. 2,400 &3 5% ope01(h euLlly gD 2 opetu1(hS6ilev
HevL &G0 Fal(h aUllpHGL SHesileullpsh@GHh 266

aGHEWTFLD &Mevo1ss.

. 5. 5 3. €. 6
Q. ¢m. 8 . 5. 7

a+b a3-b3 . .
75.1f — and S are the two rational expressions,

then their product is

a a®+ab+b? a?-ab+b?

" a2-ab+b? " a2+ab+b?
c a?-ab-b? a?+ab+b?

" a2+ab+b? " aZ-ab-b2

a+b 4 . ad-b3

o oo s pdluer @6 eildlswm

GamemeusssiT sT6ufled ieumfletT GILITHEHSH60 LIVEDT.

. a?+ab+b? a?—ab+b?
" a2-ab+b? " aZ+ab+b?
8 a?—ab-b? a?+ab+b?
" a2+ab+b? " aZ-ab-b2

76. Find the total area of 14 squares whose sides

arellcm, 12 cm, .... 24cm.

a. 4415 sq.cm b. 4055 sq.cm.
c. 4155 sq.cm. d. 4515 sq.cm.
11 @&, 12 Q&5 ... 24 Q&6 SpHwepenm

US&MBIG6NTE QsnesrL 14 &g)nmigerflest Qomgg Ly

SIT60018.
31. 4415 5.05.15 4. 4055 #.08.18
@. 4155 .05.15 . 4515 8.0&.18

77. The value of an old car is Rs. 45,000. If the price
is decreased by 15%, find its new price.
a. Rs. 38,250 b. Rs. 39,350

c. Rs. 40,250 d. Rs. 41,250
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Q uempw smflest eflemsv em. 45,000/- Sigest
aflemevuilev 15% @emmey sTevtled @UIQLIT(LRGI 1BH6T
y&lw ellemev etestest?

S1. o1, 38,250 oy, ¢ 39,350

Q. em. 40,250 FF. . 41,250

78. The ratio of the speed of the three carsis2:3:
4. What is the ratio of times taken by them in
covering the same distance?

b. 4:3:2

d.6:4:3

a.2:3:4
c.4:3:6
cpestm) smiEeT 2 @ 3 1 4 etettm 6llEHls CeusgSlev
Q6T BB CLP6OTN| SBMTTS(EHLD €(H G L &

FMIHens &L68& 615515 C&msmend Cmrmigerss

& BH058 SHessis.
2.2:3:4 o 4:3:2
®.4:3:6 m.6:4:3

79.1f p=9then {/p(p>+3p+3)+1=7?
a. 10 b. 100
c. 1000 d. 10000

p=9eesfléd p(p2+3p+3)+1="7
1. 10 <. 100
®. 1000 . 10000

80. Volume of the cube =

a.a’ b. v2a?

c.3a® d.a

&H6TT TGS\ 60T H66T 66y = ______ &60T 3160(5S6T.
o). N

V2a?

Q. 3a° F. a°

Learning Leads To Ruling
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8l. 2019 <yib vl FiUGHEF Gl euflens
Sl Leuemesst pevorLns (International Year of the

Period Table of Chemical Elements (IYPT-2019)
SipfleflSg 6o SiemioLiL?

[A] UNESCO [B] UNIDO

[CIFAO [D] ITU

Which international organization has officially
launched the International Year of the Period
Table of Chemical Elements (IYPT-2019)?

[A] UNESCO [B] UNIDO

[CIFAO [D] ITU

82. @b SHlW eerfluniiy splley G wwsHlest (BARC) yghlw

Hemevaung CaNbog[HSsLILL (HeTemeuy?

[A] B&ev Gamiugm [B] uni&@am &eiv (GLIST

[C] yeshg Gamumigm  [D] Wevstt apiiom

Who has been elected as the new chairman of
Broadcast Audience Research Council of India
(BARC)?

[A] Nakul Chopra
[C] Punit Goenka

[B] Partho Dasgupta
[D] Milan Sharma

83.  emmeT  FijeuGss  Gumligserflev 100
alls0s (haemer  aflemyeuns  efpsHw  @HSHw
GeussLiLbg eiF&memy wimj?

[A] wsv@eub &l sammev, Yuzvendra chahal

[B] ®6v&L1 wngey, Kuldeep Yadav

[C] Gxgmi o6y, Kedar Jadhav

[D] QuwramwL- eplsl, Mohammed Shami

Who has become the fastest Indian bowler to reach
100 ODI wickets?

[A] Yuzvendra Chahal [B] Kuldeep Yadav
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[C] Kedar Jadhav [D] Mohammed Shami

84. GaHlw <ipflaflwev Sleod 2019 afletr S eT6tT6B1?

[A] wéaEHEsTesT Sipfleflwiey HMID
ST WLISYISSHTETT LD&S6IT

[B] Gaflw sl LemwliLssmeT Siplailweo

[C] Bewevwrnest  siflismevsHnamest  sipflaflwev
wHMID QmglevmIL LD

[D] Aptiy  Hwest  LemLFBSM(HEHSMEsT  Sipflaflwiev
wHMID QmglevmIL LD

What is the theme of the 2019 National Science

Day (NSD)?

[A] Science for the People and the People for

Science

[B] Science for Nation Building

[C] Science and Technology for a Sustainable

Future

[D] Science and Technology for Specially-Abled

Persons

85. uGHmEMD  ijesoroeneoTuiley

embLanL
efl(pHemest Geustim HiflEQsL ey wmy?

[A] spetongen sl ety

[B] sisvmevLiy &

[C] @seletr LIl Ljgest

[D] oyevoriem Lerflestmis

Which of the following cricketers has officially

received the knighthood at Buckingham Palace?

[A] Andrew Strauss  [B] Alastair Cook

[C] Kevin Pietersen  [D] Andrew Flintoff

Learning Leads To Ruling
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86. 2019 oy yevoremsnest META  eumprsmeit
gngemevtwmenyy ell(pSHlenesst GQLmDmeu wmj?

[A] w@a6ip 6T60(&&6uIT

[B] eflsguim Guéam

[C] &ifleip smyesmi®

[D] =i(meser &&MGL

Who is the recipient of the 2019 META Lifetime
Achievement Award?

[A] Mahesh Elkunchwar

[B] Vijaya Mehta

[C] Girish Karnard

[D] Arun Kakade

87. eby 2evsemmailll  Sievwly '2evgermailwl
snevbleney’ nflsengenl GleuertlufllLg)?

[A] UNEP

[B] IUCN

[C] IPCC

[D] WMO

Which international organisation has launched
'The State of the Global Climate' report?

[A] UNEP

[B] IUCN

[C] IPCC

[D] WMO'

88. Grmaflwnailest ls 2 Wibhs (GlewseT el
LmbeSleiv  Loedtestiflest HTMessrl SLTLT eLpsud 6B
BBSHIW 4 (6HE0EE, CEemTallEslIuLLg)?

[A] Narendra Modi

[B] Ram Nath Kovind
[C] Sushma Swaraj
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[D] Arun Jaitely

Which Indian personality has been honoured with
Croatia's highest civilian award- the Grand Order
of the King of Tomislav?

[A] Narendra Modi

[B] Ram Nath Kovind

[C] Sushma Swaraj

[D] Arun Jaitely

89. "snh&: H emILL" USHHHSH60T 6T(L0SHSTOMIT WTi?
[A] Ravinder Singh

[B] Durjoy Datta

[C] Bhabhani Bhattacharya

[D] Amit Chaudhuri

Who is the author of the book “Gandhi: The
Writer"?

[A] Ravinder Singh

[B] Durjoy Datta

[C] Bhabhani Bhattacharya

[D] Amit Chaudhuri

90. sievmemouiley  e15CHSHUlleL,  @gmblevmery
uessflufl LMGISTLIL HMID 2 L 6VHEVEB)ISSTETT 2608

Slevd e flEsIULL g7
[A] spLimev 28 [B] eptiisv 30
[C] ertamgev 29 [D] gtigev 27

On which date, the 2019 World Day for Safety and
Health at Work is observed recently?

[A] April 28 [B] April 30
[C] April 29 [D] April 27
91 6vsTEmILOUTlED eTbBmerflev, (pS6VTEUZ)

SiemwdHlsater UessipaFFmIUilwb LHMID 7Flwsd
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@&wev H60E 5| &HST60T FieuGse &evtld
SlenFflssILLLg)?

[A] sptipev 30 [B] ertigev 28

[C] sptipsv 26 [D] epLisv 24

The first-ever International Day of Multilateralism
and Diplomacy for Peace has recently observed on
which date?

[A] April 25 [B] April 22
[C] April 23 [D] April 24

92. ungAGsvrevt eliLiesT GlLesesflery GuMLiguSley,
2019 oLl ehemmWy LILL&6m8 GleussTmeury wmj?
[A] 7GuU6L BL ML

[B] QLmdlesflé Sid

[C] ®1Q6v88m68sTLIT erv@6uT6Y

[D] Lresflev Qogeu@aeu

Who clinched the 2019 men’s singles title at the
Barcelona Open Tennis tournament?

A] Rafael Nadal B] Dominic Thiem

C] Alexander Zverev D] Daniil Medvedev

93. ICC 2018y yevonigest Hbs  SHiflGQsL
efymaisenest aflBg Qubm @iHwiy wrj?

[A] e796vetT Gasmerveuns) [B] emijwestiifg @ &eny

[C] Bz el pmey [D] 6ol wrbgestm

Which Indian player has been named as the ICC
Women's Cricketer of the Year 2018?

[A] Jhulan Goswami [B] Harmanpreet Kaur
[C] Mithali Raj [D] Smriti Mandhana
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94. udsns

sseuevmenesorj (Chief Information Commissioner
— CIC) wm?

BluslGsLIUL(Heem  Senevemiog

[A] &8\ umjseum [B] suevtegm N. &ijewrm

[C] &8reip emBHTT [D] eg®6v6t1 @ametveums]

Who is the newly appointed Chief Information
Commissioner (CIC)?

[A] Sudhir Bhargava [B] Vanaja N. Sarna

[C] Suresh Chandra [D] Yashwardhan Sinha

95. FUSUGHev smevonest SpevaT & Hrmsl ell(ha)
Qeuetty uMLeonAflwy BrjwesT  HbGLd, 6HS

Bl enL& Carbgeurmeunt?

[A] @&1@QuwA&sT [B] tgmesTery

[C] @ggiiwesl [D] @55mel

Norman Gimbel, the Oscar & Grammy-winning
lyricist has passed away. He was from which
country?

[A] United States [B] France
[C] Germany [D] Italy
96. ebg IPC Uiflaflstt S, LMeflwsd GletTLMISSHE0

BULPEGHHED6TT S\ (HBHEIEOSHHET SHMHSH60 CFIWLIEOMD?

[A] Nifley 357A [B] (Nfley 356A

[C] Nifley 354A [D] Nifley 358A

Transgenders can file sexual harassment case

under which section of IPC?
[A] Section 357A [B] Section 356A

[C] Section 354A [D] Section 358A
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97. 260858&MienL GUMLigufley (Pp&Hev epeuen’y efflw
(PS6L  HPOUBG eIFFTeNT  6T601D  FNHEM6BTEnIL

uenLSgleier el wiy?

[A] GLsv srvG@LwWilest [B] ameflid oy teom

[C] wrebTiy LIG6TTET [D] @it Hrauly

Who has become the first-ever spinner to bowl the

first over in a World Cup?
[A] Dale Steyn [B] Monty Panesar

[C] Hashim Amla [D] Imran Tahir

98. @mndlwneilstr emdLABHL  HTH, Liensuilensv
sLBUUTL(Gssns  mLLunessigsst WHO  afl(pensll
Gubmieiteng)?
[A] sgrijégesoT [B] o rull@gseid
[C] @negervgmest [D] e flwimesrm

Which state government of India has won the 2019
WHO award for tobacco control?

[A] Jharkhand [B] Andhra Pradesh
[C] Rajasthan [D] Haryana

99. oiflmelest Gy aflmerisemns Seslling @uwisSw
WP36v Cuesst GuMy eflomestl wimy?

[A] oi6uenfl #g17Geug)  [B] umeuest smbs

[C] GursestT Al [D] Nflwr Ara

Who has become the first woman fighter pilot to
fly Hawk jet?

[A] Avani Chaturvadi [C] Mohana Singh

[B] Priya Singh [D] Bhawana Kanth
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100. SnHw IBMLM(ETHLO6BTM sureuMHNIl6Y,

QemeuwiglenL BILM(EHLesTD 2 mililesT wimj?
[A] Gglwewsil S [B] g dHymessh (i
[C] sevaT Sbuifeip  [D] @rwwm amiflgmen

Who has become the Youngest Parliamentarian in
the history of Indian Parliament?

Learning Leads To Ruling

Prepared By www.winmeen.com

[A] Ramya Haridas
[B] Chandrani Murmu
[C] Sumalatha Ambareesh

[D] Jothimani S.
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Group 4 GS Model Test Prepared By www.winmeen.com

Group 4 VAO General Studies Model Test 2 — Answer Key

DB [1)C [2)D [31A [41)D [51)D [61)C [ 7)B | 8)A | 91)D
2)C | 12)A | 22)C | 32)C | 42)A [ 52)A | 62)A | 72)B | 82)C | 92)B
3)D | 13)B | 23)A | 33)D | 43)B | 53)C | 63)B | 73)A | 83)D | 93)D
4)A | 14)D | 24)D | 34)B | 44)D | 54)A | 64)D | 74)B | 84)A | 94)A
5B | 15)B | 25)B | 35)A | 45)B | 55)B | 65)B | 75)A | 85)B | 95)A
6)A | 16)A | 26)B | 36)D | 46)D | 56)D | 66)D | 76)D | 86)A | 96)C
7)B | I7)A | 27)C | 37)B | 47)A | 57)C | 67)C | 77)A | 87)D | 97)D
8)D | 18)C | 28)A | 38)D | 48)C | 58)B | 68)A | 78)D | 88)B | 98)C
9)A [ 19)D | 29)D | 39)C | 49)A | 59)A | 69)B | 79)A | 89)C | 99)C
10)C | 20)B | 30)B | 40)C | 50)B | 60)A | 70)D | 80)D | 90)A | 100)B
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